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Chapter 2 Extension Lesson #2:
Simple Interest

I =prt

I = interest

p = principle

r = rate (as a decimal)
t = time (in years)

Example 1 T=2 r=.06

Maria opened a savings account that earns_6% annual
interest. If she deposited $5000 when she opened the
account, how much interest has she earned after 2 years?

T =1%vrt
=(F Vo) (2)

= $600

—
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Example 2 ‘—62-%=J7:=-t=_5 08=r

Guadalupe opened a savings account that earns 8% annual
interest. After 6 months, she has received $100 in
interest. How much money had she deposited when she

opened the account?
I = prt
— P (.09 )g '5 )
oo = -
. 04 .

[$ 23500 ='P \

Y‘e Q"/p "—‘.09
Example 3 W T2 g0

Mike deposited $6000 into a savings account that receives
9% annual interest. If he earns $1890 in interest, how
long was his money in the account?

1 = rt
1890 = )02}t
1290 = +

54D 540
( 2, ‘S\/earS =t
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Example 4 Z.\zwg;_%q =2.215=t
accoun?for 2 years and

Jim deposited $9000 into a savin:!g:s
3 months. If he earns $2430 in interest, what is the

annual interest rate?

T = prt
Juso = (. 0 ) )z29)

;

2430 = 2 r
2%250 D
J2 =T

[12%=r

Example 5
Molly invested $30,000, part at’6%annual interest and the

rest at(7.5% annual interest.Last vear] she earned

in interest. How much money did she invest at each rate?

P —— 30,000_ X

p=
= ,06 r= .0%+5

int- @ #.5%

-3 ( ) = 1995

+ ce
(nt -@ ©° + (30)0()0‘)(

() (.0eX!
+ .0%5 (30000 X) = 1995
9295

.06 X
06X + 2250 = .0%5X =
_.015X +228p = 1995
015X _% ~2150
$13,000( G‘j/g Z.0ISX = -255
m —00,6 *oOIS’

X= % 000
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Example 6
Kyle invested $12,000, part at(T2% annual interest and the

rest annual interest. His total interest last year
was $1540. How much money was invested at each rate?

$4,000 @
p= X f= 12,000 — x ‘12% rate
-{; = .12 H = ,1%3256 $3)1%?2’g/0 rabe
25%
@ l23 ny-@ 12
oyl SSESD - s
2 % + .325(12,000-x) = [540
. \2% A \S2 0 ' = |I54o
~.,0125x + 1520 = |540
- 199D -1590
— 125X = —5p
—eris —.0125
X= 4,000
Example 7

Callie invested $7000 for one year, part at 8% annual
interest and the rest at 10% annual interest. Her total

interest for the year was|S596.) How much did she invest
at 10% annual interest?

$5200 8% \0% $1800@
@8% ¥= % p= #oo0 —x. lo%
r= .09 r=.10
\&:\l\-’ \ir-\‘/—\/
GACOAH (7000 — QBN

08X + . 10(F000— 596
+ 300 596

— 02X + F00 = S9¢(

— JOZXR = — |04
— o7 — .02

X = 5200
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Example 8

investment as he did fro
money did he have inve

Example 9
Joan invested some money in bonds at 6% interest and an

amount $8000 less than that in stocks at 5% interest. Her
total interest for the year is $1690. How much did she

invest at 5%?

L% vate S rate
P= % $l19000 P= %—300D0 —> V00O —BOOD
r= .06 r= .05
= - $11,000@ 5%,
&= L= SO0@ 5% |
(EAT) (x =2000\ 2
4

LOo% 4 .o{(’?\c”:a\o'o& = 920

ol

)

. 06X 1 «05X|— 4{po 16920
— Yoo = 1%
+ Yoo + 400
= 2090
)

ol
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1. Rosa invested $8000 for one year, part at 8% annual interest and
the rest at 10% annual interest. Her total interest for the year was
$700. How much money did she invest at each rate?

’/ rate !chr ! |
p= x 3'5&00 p=18600 —x | $300D
t=,09 ) r=,\0 @

=\ S—rnN T
\N\_/

GO Y (8600 =YX
Vv
OB+ ..mx\ R
—.02X + %0 = 300
— oo - 800
- ,02X = <100
- 002 "102

2. Jake has $4000 invested at 8% annual interest. He has $2800
more to invest. At what rate must he invest the $2800 to have a
total annual interest of $6287?

8B % vroke T % rate
P= ia(ele’e) P= 2900
r=.098 =7
U
o))+ (@)D = G2

32 A~ 2900y = 2%
—% —220
B 2800r = 3p%

2900 2900

r=

[\% rabe
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